ANALYSIS OF THE RATS DATA IN SPSS

Analysis With the Mixed Models Program

There are two analyses specified in the following code.  Both analyses include main effects of group and X (the transformed time variable) and their interaction.  This analysis allows for different group levels at 45 days (and so differs from the R analysis, where we assumed a common level at 45 days).  The first analysis has a random effect associated with the level at 45 days (i.e. with the regression intercept for each rat).  The second should have an additional random effect for the slope on X.  But I am not certain it is coded correctly.  
Here is the syntax:

RECODE

  RESPONSE  (-9=SYSMIS)  .

EXECUTE .

compute X = ln(1+(TIME-45)/10) .

execute.

MIXED

  RESPONSE  BY GROUP  WITH X

  /CRITERIA = CIN(95) MXITER(100) MXSTEP(5) SCORING(1)

  SINGULAR(0.000000000001) HCONVERGE(0, ABSOLUTE) LCONVERGE(0, ABSOLUTE)

  PCONVERGE(0.000001, ABSOLUTE)

  /FIXED = GROUP X GROUP*X  | SSTYPE(3)

  /METHOD = REML

  /PRINT = SOLUTION

  /REPEATED = X | SUBJECT(SUBJECT) COVTYPE(CS) .

MIXED

  RESPONSE  BY GROUP  WITH X

  /CRITERIA = CIN(95) MXITER(100) MXSTEP(5) SCORING(1)

  SINGULAR(0.000000000001) HCONVERGE(0, ABSOLUTE) LCONVERGE(0, ABSOLUTE)

  PCONVERGE(0.000001, ABSOLUTE)

  /FIXED = GROUP X GROUP*X  | SSTYPE(3)

  /METHOD = REML

  /PRINT = SOLUTION

 /RANDOM X  | SUBJECT(SUBJECT) COVTYPE(VC)

  /REPEATED = X | SUBJECT(SUBJECT) COVTYPE(CS) .

Output from the first model:
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Note that the slopes are given a different parameterization here than in the R analysis.  Here we have X representing the group 3 slope, with the slopes for the other groups found by adding the appropriate interaction slopes to the group 3 slope.
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Output from second model: 
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